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SECONDARY SCHOOL EXAMINATION - 2021 (ANNUAL)
Sub. Code - 211 SOCIAL SCIENCE (Model Set)
(arrfore fasm)
9 - 2 B¢ 45 fiFe quTi H—80
Time : 2 Hrs.45 Minutes Full marks-80

ghefeial & ferg (A3 -

Instructions for the candidates :

1. qereft JUTHEYg MUY Yeal H B SR o |

Candidates are required to give answer in their own words as far
as practicable.

2. <IN IR TR R A Y ofe yorfe Afde a=a €

Figures in the right hand margin indicate full marks.

3. Ue U Bl LHMYdd g & ol 15 e &1 srfaRed wwa faar an
=

15 minutes of extra time have been allotted to read the question
paper carefully.
4, T U U T TS| H §, WUS—3If Ud HUS—T.

This question paper has two sections, Section-A and Section-B.

5. Yus—31 H 80 IS U B ¥ 40 Ued Afard 2| afe uemeil 40
W 3Hf® geAl @ IR < /Sl B, Al UH 40 ITRI BT & oA [T

SO | 9% & folv 1 i fAeiRa 81 OMR SR U9d R fad T
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HEl gd Bl Ael /Blel dicd U 9 W | DR /TR U / <l /ARG
anfe &1 OMR SR UFd R YANT S8l BY 3T=ueql Uiel uRumy =
BT |

In section -A there are 80 objective type questions out of which 40
questions are compulsory. If the candidate answers more than 40
questions, the first 40 answers only will be evaluated. Each
question carries 1 mark. Darken the correct circle on the OMR
answer sheet with blue /black ball pen. Do not use Whitener
/Liquid/ Blade/ Nail etc on the OMR answer sheet otherwise the

result will be invalid.

6. Gus—g H AHITe I & gt 5 [l & oy STNY U & | IAd
vee & forg 2 &fw fuiRa €
In section-B, there are Short Answer Type Questions of 5
subjects of Social Science. Each question carries 2 marks.

(i) sfoe™ ¥ 6 g SR U (99 A&7 1 9 6) & R fdgl 3 Ul &
IR S % |
History has 6 Short Answer Type Questions (Q Nos. 1 to 6) out of

which any 3 questions are to be answered.

(i) <ol e o B 4 g STNY U (URF 6T 9 ¥ 12) § R |

fhgl 2 Uol & SR 29 2 |
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Political Science has 4 Short Answer Type Questions (Q. Nos. 9

to 12) out of which any 2 questions are to be answered.

(iii) oo ¥ 4 g IR YA (U 6T 15 | 18) & o fhl 2
Ul @ SR o T
Economics has 4 Short Answer Type Questions (Q. Nos. 15 to

18) out of which any 2 questions are to be answered.

(iv) e ¥ ool 6 g SR e (U9 AT 21 9 26) & o4 bl 3
Tl & SR o B
Geography has 6 Short Answer Type Questions (Q. Nos. 21 to

26) out of which any 3 questions are to be answered.

(V)  oTUcT Yded # 4 ofg Ioxid Ued (U= &1 29 ¥ 32) 2 R o fhl
2 U & TR oA T
Disaster Management has 4 Short Answer Type Questions (Q.
Nos. 29 to 32) out of which any 2 questions are to be answered.

(vi) 9o srfaRad 8 <l ST Ued (W94 6T 7, 8, 13, 14, 19, 20, 27, 28)
g UAP U B U 4 o FeiRa 2 sfoe Rmomifa faem,
3efees, Ud et ¥ Y% A UH—Ud ard I U P IR o7 2 |
Apart from these, there are 8 Long Answer Type Questions (Q.
Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each question carries 4 marks.

One Long Answer Type Question each from History, Political

Science, Economics and Geography is to be answered.

7, P UPR & Soldeid SIBIUT BT STANT 8] PN |

Do not use any type of electronic instrument.
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wgus—31 | SECTION-A

aqfss 939 / Objective Type Questions.

Ue A 1 W 80 T B UAD U B A1 IR fadwew € RH ¥ e 9 g
e yed & ol 1 3 MEiRa 2| U+ gRT g4 Y fddey & OMR fic w®
fafed &Y | fhgi 40 UeAl & IR < | (40x1=40)
Question No. 1 to 80 have four options each out of which only one is
correct. Each question carries 1 mark. Mark your selected option on the
OMR sheet. Answer any 40 questions. (40x1=40)

1. feede & o a1 g oA T8 g 7

(A) fazrers (B) <Trairg
(C) @= (D) e

Which country is not included in Indo-China?

(A) Vietnam (B) Laos

(C) China (D) Cambodia
2 I SR g gar or ?

(A) 1815 (B) 1818

(C) 1820 (D) 1848

When was Vienna Congress held ?

(A) 1815 (B) 1818

(C) 1820 (D) 1848
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3. YRA H Tex Urél B AT fhd @y ?
(A) TR o8 (B) Tv2ER 3MTST]
(C) e wReaTe (D) wre g wre

Who founded Ghadar Party in India ?
(A) Gurdayal Singh (B) Chandra Shekhar Azad
(C) Lala Har Dayal (D) Sohan Singh Bhakna

4. fgdl A8fe @ 91 WU H HA dRM &1 IgF e gwwm@l &l
FHG B B [Ty gar?
(A) A1 (B) Arer
(C) 3lua (D) R |y

After the Second World War which organization in Europe

emerged to remove the economic ill effects?

(A) SAARC (B) NATO

(C) OPEC (D) European Union
5. R RiETd 59 <2 & ardd o ?

(A) e (B) el

(C) errgaivs (D) wrafsar

Norodom Sihanouk was ruler of which country?

(A) Vietnam (B) Laos

»
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(C) Thailand (D) Cambodia
6. aTT ol 3919 &1 JAMfdshR fbas fdar o ?
INEEIRRSE] (B) o1 a1
(C) SIrel A (D) R1ée Heed

Who had invented the steam engine ?
(A) Abraham Derby (B) James Watt
(C) George Stephenson (D) Robert Fulton

7 TIET 3R QU8 &I HHAT Bl RATIAT g DI T ?
(A) 1854 (B) 1907
(C) 1915 (D) 1923
When was the Tata Iron and Steel Company established?
(A) 1854 (B) 1907

(C) 1915 (D) 1923

8. MeleR dal Red g ?
(A) BreTTe (B) TeT
(C) faeett (D) =T

Where is Golghar situated ?
(A) Kolkata (B) Patna

(C) Delhi (D) Gaya

»
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) fha sFRaT Iregufcr 1 = S’ AR #I ?
(A) gsX1 faew (B) 70 o HuTdee
(C) srsired feie= (D) Sif9 g0 St

Which American President launched ‘New Deal’ ?

(A) Woodrow Wilson (B) F. D. Roosevelt

(C) Abraham Lincoln (D) John F. Kennedy
10.  “TOiferde Gfar f&d av g & 78 ?

(A) 1789 (B) 1791

(C) 1801 (D) 1804

When was Napoleonic code introduced ?

(A) 1789 (B) 1791

(C) 1801 (D) 1804
11.  Thodhe B G &9 gg 7

(A) 1864 (B) 1866

(C) 1870 (D) 1871

When was the treaty of Frankfurt signed ?

(A) 1864 (B) 1866

(C) 1870 (D) 1871

12. DIl AR BT SH PHal gall o ?

7
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(A) STo=fT (B) g7t
(C) wiw (D) et

Where was Karl Marx born ?
(A) Germany (B) England
(C) France (D) Poland

13. 1991 § /1 & & P9 IR # [mar ?
(A) @ﬁé’f 3 (WTO) (B) e (GATT)
(C) 3 sy (D) 37 ¥ BIg 2

Which of the following came into existence in 1991 ?
(A)WTO (B) GATT
(C) New Economic Policy (D) None of these

14. S 3MMfies fehamall B urifde &3 9 Hdfdd 78l g ?
(A) AT ATeTd (B) dfd
(C) & (D) 7
Which of the following economic activities is not related to the
primary sector ?
(A) Fishery (B) Banking
(C) Mining (D) Forest
15. SHERIEQR, YR, AeTg SR e e Sa & & § ?

8
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(A) irHie BER
(C) 3MRA 3R I (D) g%

Jamshedpur, Durgapur, Bhilai and Salem are the centres of which

industry ?
(A) Cement (B) Sugar
(C) Iron and steel (D) Textile

16. gy IfdeT T BT M9 © -
(A) F¥UT 3T (B) 3f<Id 3y
(C) I e (D) AT 3

Per capita income refers to :
(A) Whole income (B) Average income

(C) National income (D) Marginal income
17. I fdbrd gRyg &1 7o+ By garr ?

(A) 1950 (B) 1951

(C) 1952 (D) 1955

When was National Development Council formed ?

(A) 1950 (B) 1951

(C) 1952 (D) 1955

18. 9IRS &I &l © :

»
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(A) TR (B) SfelR
(C) sprt (D) eaT

The currency of Bangladesh is :

(A) Rupee (B) Dollar
(C) Krona (D) Taka
19. M 3T BT 31 7 -
(A) TRPR DI 3T (B) uiRaR® am
(C) Ardsifd SUhHl &1 3 (D) ST & ARl ™

National income refers to :

(A) Income of government

(B) Family income

(C) Income from Public enterprises

(D) Income of factors of production

20,  9RA H IUHIIT GREVT BT Hd AN g3 ?
(A) 1968 (B) 1986
(C) 1984 (D) 1976
When was the Consumer Protection Act enacted in India?

(A) 1968 (B) 1986

(C) 1984 (D) 1976

10
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21, 9 e % gRI {8 bR &1 9 Yo b smar g ?
(A) ITUPBTA T (B) HETHBTAA 0T
(C) <TeIpTelrT ST (D) g4 & W

Which type of loan is given by Land Development Bank ?
(A) Short term loan (B) Medium term loan
(C) Long term loan (D) All of these

22. 9Rd H o9 yeR @1 fd® yormel 913 It © 2
(A) USTrardl areieaser (B) AATSTATST 3referawen
(C) Af3ra sreferasen (D) \r=gare) arefegaxer

Which type of economic system is found in India ?

(A) Capitalist economy (B) Socialist economy

(C) Mixed economy (D) Communist economy
23, AN ARR ARITSHT FRIfd 2

(A) BeTerst & (B) B &

(C) FfaT & (D) FwT

Nagarjun Sagar Project is related to :

(A) Sutlej (B) Cauvery

(C) Narmada (D) Krishna

11
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24. 26 faEwWR, 2004 BT fdTq BT B R GART A GTfdT gIT o7 ?
(A) afe=m TR (B) icTafed HENNR
(C) 3rceifed AR (D) STt &Y T

Which part of the world was affected by Tsunami on the 26"

December, 2004.
(A) West Asia (B) Antarctic ocean

(C) Atlantic ocean (D) Bay of Bengal

25. MY HOR [T & IO B BT G BRI RIT & 7

(A) DY BT T ST (B) HaR TTeRi &

(C) IRt @7 Sdars § FHH (D) ¢ | PIg Bl
What is the main cause of the failure of common communication

system ?

(A) Breakage of cable

(B) Distance of communication towers
(C) Reduction in the height of towers

(D) None of these

26.  dI¢ &fc g ¢
(A) Bl B (B) Tggeli
(C) wasl &l (D) SWRIad a1 &I

12
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Flood damages :
(A) Crops (B) Animals
(C) Buildings (D) All of the above

27. AW QS dwfd ©
(A) Xea & (B) ws& AN &
(C) <Tet AT 9 (D) 9y Tl |

Golden Quadrilateral is related to :
(A) Railways (B) Roadways

(C) Waterways (D) Airways

28. ¢ & IHIT NI Bl ST a1y -
(A) Tifg & aTex (B) @i #
(C) 3= A R (D) B &

During flood people should go :
(A) Outside the village (B) In the fields
(C) On highland (D) Nowhere

29. =1 § @ Pl &g IoHad < §
(A) RO SHar gret (B) 9ReT T BN

(C) ST & (FAT8CS) (D) 4RI HRIFRE Tt

Which of the following is a regional political party?

13
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(A) Bhartiya Janta Party (B) Indian National Congress
(C) Janta Dal (United) (D) Communist Party of India
30. GO @ gATd DI HRAT & 7
(A) = TRER (B) fStetr uRug
(C) T TG 3MART (D) = TR

Who conducts the Panchayat elections ?

(A) Central Government (B) Zila Parishad

(C) State Election Commission (D) State Government

3. URA & A ¥ A gErgdl ST Bl YOI 8 7
(A) foer (B) STR T
(C) gsiTd (D) ToTer
From which state of India Panchayati Raj began ?
(A) Bihar (B) Uttar Pradesh

(C) Punjab (D) Rajasthan

32.  9¥ 1975 WRA™ oM # fHd forg Sirm <mar g ?
(A) 39 99 3MH G Y o |
(B) #iclt Sfa=T w1fell werrere= o= off |
(C) <21 ¥ 3R SATITTDIT T 3T T |
(D) ST el @1 WRGR g1 o |

14
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What for the year 1975 is known in Indian politics ?
(A) General elections were held this year.

(B) Mrs. Indira Gandhi became the Prime Minister.
(C) Internal emergency was imposed in the country.

(D) Janta Party government was formed.

33. Al AR scle 6w wid | g fhar wr ?
(A) foEr (B) STR U<
(C) 31 g (D) afirerrg

In which province did the Toddy movement begin?
(A) Bihar (B) Uttar Pradesh

(C) Andhra Pradesh (D) Tamil Nadu

34, gH DI G BT G MR HIF AW & ?
(A) |TT=TRI® (CIEINEIET
(C) &9 U (D) Sirferarel

Who considers religion as the main base of the community ?
(A) Communal (B) Feminist

(C) Secular (D) Racist

35, T H AIEeRT 9el 2, e ¢

(A) I fafderdar &1 Jerdl T |

15
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(B) T &I U&Hdl Bl HHGIR Bl 2 |
(C) B9l o1 H IR A & |

(D) fafr=1 wyareil @& 919 TaxE &H Fl 2 |

Power sharing is right because :
(A) It increases diversity.
(B) Undermines the unity of the country.

(C) Delays decision making.

(D) Reduces conflict between different communities.

36. T ¥ AWieeld TodgT Bl & Jevd AT B °

(A) ST BT I BISH IR AR BT |

(B) AT®Hda DI ATIAT BT |

(C) ARA—UTel & dra Aeell dI d8ax 9T |
(D) HdG IRBR DI IATYAT BT |

What is the main objective of the Seven Party alliance in Nepal ?
(A) Forcing the king to leave the country.

(B) To establish democracy.

(C) To make better relations between India and Nepal.

(D) To establish all party government.

37. URT & 59 5T H DI DI Bl FI9 9T SUTEH & 7

16
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(A) uf¥=¥ Tt (B) k@S
(C) anfsem (D) SIS

Which of these states of India is the largest producer of coal?
(A) West Bengal (B) Jharkhand

(C) Odisha (D) Chhattisgarh
38. ¥R $Holl & IAGA & oy Fald S I &

(A) 3rH GESNECRE
(C) ITroRerT= (D) HETeg

The most suitable state for the generation of Solar energy is :
(A) Assam (B) Arunachal Pradesh

(C) Rajasthan (D) Meghalaya
39.  f98R &1 ugell 1 91t uRASHT D9 7 ?

(A) TTUSH &l TSt aRATST] (B) &Y 7l gl uRAToiT
(C) arT fRETsTT (D) & 1<) =Y aRarsT
Which is the first river valley project of Bihar ?

(A) Gandak river valley project (B) Kosi river valley project

(C) Bagmati project (D) Sone river valley project

40. exdd TR Rod ot g ?
(A) uf¥es &¥Te (B) anfeem
(C) STRIETS (D) &R

17
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Where is Sundarvan Tiger Reserve?

(A) West Bengal (B) Odisha
(C) Uttarakhand (D) Kerala
41. URT § A oI T 91 hiT g 2
(A) MTREST AT dfer (B) NS AR diy
(C) ER1%S diy (D) &4 qfy

Which is the longest dam in India ?

(A) Bhakhra Nangal dam (B) Nagarjuna Sagar dam
(C) Hirakund dam (D) Tehri dam
42, BIF WANG ol BT SEIERVT 8] & ?
(A) Prae (B) faga
(C) Ugifr (D) wsf A%

Which is not an example of primary energy ?
(A) Coal (B) Electricity

(C) Petroleum (D) Natural gas
43.  Jd HO A BT JRATAI FEl © ?
(A) ¢ feeen (B) Prereprar
(C) Fr=g (D) BTgR

Where is the headquarters of East Central Railway ?

18

»



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BBYJUS

The Learning App

(A) New Delhi (B) Kolkata

(C) Mumbai (D) Hajipur

44, CICEEE

(A) TRI% A (B) <& A

(C) SirIe wdal (D) g4 ¥ &g el
Rice is :

(A) Kharif crop (B) Rabi crop

(C) Zaid crop (D) None of these

45. =1 9 9 B IS0 & B HEAT TE 8 7
(A) STeR (B) ot aifel ferfiics
(C) &t (D) fewet
Which of the following is not a private sector industry ?

(A) Dabur (B) Bajaj Auto Ltd.

(C) SAIL (D) TISCO
46. DI QST DISTAT A AT & 7

(A) dTaTEe (B) s

(C) <lis 3ra%h (D) dfar

Which mineral is associated with Kodarma ?

(A) Bauxite (B) Mica

19
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(C) Iron ore (D) Copper

47, TR Tl HT AT A T 8 ?
(A) ERa wifa (B) Ureft wifer
(C) %o wif (D) Hrefr wifey

What is another name of operation flood ?
(A) Green revolution (B) Yellow revolution

(C) White revolution (D) Blue revolution

48. Sl & SATed B folv f9gR @ &9 o 5ot ufig € 2
(A) gt 3R wicer (B) 14T 3R arar

(C) g 3R Areial (D) HTFHRYR R derTel]

Which two districts of Bihar are famous for the production of

Lichi?
(A) Purnea and Katihar (B) Gaya and Nawada
(C) Patna and Nalanda (D) Muzaffarpur and Vaishali

49. I TAT JUHNT BT 3fTR
(A) fafera wgaar 21 (B) g&T dalral 2 |
(C) §ad PEear & | (D) 3H & P &l

The difference between Income and Consumption is known as :

(A) Exchange (B) Money

20
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(C) Saving (D) None of these
50. 8 9 DI ARG 6 B STH BT GHR T8l 2 ?
(A) w1 ST (B) =Ime] =41
(C) arfarfaewy (D) amacft ST
Which of these is not a type of deposit of commercial bank?
(A) Fixed deposit (B) Current deposit
(C) Overdraft (D) Recurring deposit
51. Yol qiR # f&d IR & FON & - Bl 2 ?
(A) 3Tt (B) <reiardt
(C) ATd B <1 (D) T8 ¥ BIg T2
What type of loans are traded in the capital market ?

(A) Short-term (B) Long-term

(C) ‘A’ and ‘B’ both (D) None of these
52.  f&¥d B8, “UTEd BRI GHE H ST el AeH Hgwqyul Afdd | 98
g9 W R T8, g9 99 iR AR g1

(A) UfSd STareveld "8 (B) <raig Tred
(C) wETeT el (D) To Yio Si0 3fege HH
Who said, “A customer is the most important visitor on our

premises. He is not dependent on us, we are dependent on him.”

(A) Pandit Jawaharlal Nehru (B) Rajeev Gandhi

21
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(C) Mahatma Gandhi (D) A. P. J. Abdul Kalam
53. 3 A B IR AP R HEAAT BT °UShH 7 ?

(A) IR (B) fa<
(C) ferer (D) JramaTd

Which of these is a component of non-economic infrastructure ?
(A) Communication (B) Finance

(C) Education (D) Transportation
54.  STH 9§ FHoll BT IR—URARS AT BT © 7

(A) SRR Fott (B) ugiferam

(C) e (D) wrfie T

Which of these is a unconventional source of energy ?
(A) Tidal energy (B) Petroleum

(C) Coal (D) Natural gas
55.  TNUSATl WHE & DIl DI AT DHe AT o7 ?

(A) 25 FRI$ 99 g4 (B) 20 &g 99 Ug
(C) 20 B9IR a¥ 4d (D) 3TH & P =l

When was coal of Gondwana system formed ?
(A) 25 crore years ago (B) 20 lakh years ago

(C) 20 thousand years ago (D) None of these

22
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56. T H A W% & BAA DI 7 ?
(A) =maet (B) HerpT
(C) wurd (D) ¥ & @l

Which of the following is a Kharif crop ?

(A) Rice (B) Maize

(C) Cotton (D) All of these
57. STH 9 DI WER %Ad T8l © ?

(A) purd (B) ie

(C) = (D) &+

Which of these is not a fibrous crop ?

(A) Cotton (B) Jute

(C) Sugarcane (D) Flax
58.  disal faery amfdie erF waEf g ?

(A) AERTS, (B) TomTa
(C) Bra (D) uf¥=m §me

Where is Kandla special economic zone ?

(A) Maharashtra (B) Guijarat
(C) Kerala (D) West Bengal
50. T[S Bl STH GaAT o :

23
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(A) R®T | (B) ST H
(C) ST | (D) gefs
Gutenberg was born in :

(A) America (B) Germany

(C) Japan (D) England

60.  Sicle H HIUHAT DI oA fhas &I ?
(A) 2fireed (B) dheRTe
(C) ufew (D) Reer
Who started printing in England ?

(A) Hamilton (B) Caxton

(C) Edison (D) Smith
61. 1917 Bl Ugcll Sl Hifd fbd 79 A S Sl 8 ?
(A) BT Zpifey (B) et wif
(C) staear wifd (D) TawR ifey
The first Russian revolution of 1917 is known by which name ?

(A) February revolution (B) April revolution

(C) October revolution (D) November revolution

62. STl AT BT o fogs fhar o7 ?

(A) Brel AT (B) wIfe

24
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(C) grew®l (D) H¥w

Who formed the Red army?

(A) Karl Marx (B) Stalin

(C) Trotsky (D) Kerensky
63.  3ifcT sfear gReM T &1 U &9 g3 7

(A) 1921 (B) 1906

(C) 1929 (D) 1936

When was All India Muslim League formed ?

(A) 1921 (B) 1906

(C) 1929 (D) 1936
64. T H1 EXHGRGl AIlGd Pel Rerd © 7

(A) ge-T (B) SR

(C) faeeh (D) 3T

Where is Takht Shree Harmanderji Sahib located ?
(A) Patna (B) Amritsar

(C) Delhi (D) Agra
65. RAuTET fagis ®a gar o ?
(A) 1855 (B) 1857

(C) 1885 (D) 1887
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When did the Sepoy Revolt take place ?
(A) 1855 (B) 1857
(C) 1885 (D) 1887

66. I Hifd BT Fey JfTaRAT & b a7 A & 7
(A) TaIfie &= (B) fg<ias &=
(C) Tehas &l (D) 579 & ®Is &l

White revolution is related to which sector of economy ?
(A) Primary sector (B) Secondary sector

(C) Tertiary sector (D) None of these
67.  fIgR Qg9 &g Fm=T Sl 7 ?

(A) 20 SR (B) 22 A
(C) 23 o (D) 25 3R

When is Bihar Diwas celebrated ?

(A) 20" January (B) 22™ March

(C) 23" June (D) 25™ August
68.  WIOY 99 UY HAl BT IMATSH fHAT S 2

(A) |TTYR (B) =rofigy #

(C) sz # (D) ¥FTeTgR ¥

The largest cattle fair is organised in :
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(A) Sonepur (B) Hajipur

(C) Buxar (D) Bhagalpur
69. IR # {6 Uasfie e &1 et Red g ?

(A) 3reTrel Raeroh (B) 3iRTord

(C) TvEme [ (D) %I Taw

The tomb of which historical ruler is located in Sasaram ?

(A) Allaudin Khilji (B) Aurangzeb

(C) Shershah Suri (D) Qutubuddin Aibak
70.  UAIST vCA AUM BT AMIHR e foar ?

(A) S/ BRI (B) ST @&

(C) e mee (D) o/ dfe

Who invented flying shuttle machine ?

(A) James Hargreaves (B) John Kay

(C) Robert Fulton (D) James Watt
7. SR ¥ wic & 79 § Red 2 ?

(A) Feg Yo (B) arfeem

(C) uf¥=gH e (EISES

In which state is Durgapur steel plant located ?

(A) Madhya Pradesh (B) Odisha
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(C) West Bengal (D) Jharkhand
72, USM & $Hd Il ?

(A) 1871 (B) 1870

(C) 1848 (D) 1815

When did the Sedan war take place ?

(A) 1871 (B) 1870
(C) 1848 (D) 1815

73. BT DI o ?
(A) ST TRTeR Y RERIGE]
(C) <reifr® (D) 578 | PIg 2

Who was Hegel ?
(A) German Chancellor (B) Politician
(C) Philosopher (D) None of these

74. AT, 1946 ¥ WA T4 Auaa™m & = 89 arenm @Hsiar g 9™ 9

ST STl & 7
(A) STaT =i (B) BiIg \HsiId
(C) uR< H=iar (D) 37 & @I Tl

The agreement held between France and Vietnam in March, 1946

is known by which name ?
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(A) Geneva Agreement (B) Hanoi Agreement

(C) Paris Agreement (D) None of these

75. TSl fqWTS e fREd faar A ?
(A) 1905 (B) 1911
(C) 1915 (D) 1922
When was partition of Bengal revoked ?

(A) 1905 (B) 1911

(C) 1915 (D) 1922

76. 59 qHIT AT D TEAA FI HH BT © 2
(A) Bz (B) T
(C) Ta—az (D) E—a=T

Which seismic wave has the lowest intensity ?
(A) P-Wave (B) S-Wave
(C) L-Wave (D) T-Wave
77. G A & hdT Ui W 9eRIRRI | © ?
(A) 80% (B) 85%
(C) 95% (D) 97%

What percentage of the total water is in the oceans ?
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(A) 80% (B) 85%
(C) 95% (D) 97%
78. feerR @) &g 98 R T gt uRAeEr J81 8 7
(A) | (B) TUs®

(C) ®rit (D) g

There is no river valley project on which river of Bihar ?

(A) Sone (B) Gandak
(C) Kosi (D) Punpun
79. I A
(A) @RH (B) &1
(C) sTrare (D) & & @Iz e

Wheat crop is :

(A) Kharif (B) Rabi
(C) Zaid (D) None of these
80. gordd I Hegdl GHIfd & Gdg 399 s g ?
(A) BT Heg CIREINRISREERI
(C) faxira eyaven (D) ey e

Which of the following is related to Balwant Roy Mehta

committee?
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(A) Centre-State relation (B) Panchayat Raj system
(C) Financial system (D) Federal system

Yuvs—9 / Section-B

oY S 939 / Short Answer Type Questions

sfi8™ / History
U AT 1 W 6 TP oY SN © | 599 ¥ Pl 3 yeAl & IR < | ISP U

@ forv 2 3fe fuiRa g (3x2=6)
Question nos. 1 to 6 are Short Answer Type. Answer any 3 questions. Each
question carries 2 marks. (3x2=6)
1, RTCdTE Bl ARG AR | )
Define nationalism.
2. BT A qd w1 fhart &1 Rerfa oAy off ? )
How was the condition of Russian farmers before the revolution ?
3. SIS T BT T 2T oA 2 2)
What was the objective of Dandi Yatra ?

4. et | goor I B [derd ¥ fdar ? (2)

How did Gutenberg develop printing machine ?

5. THEATHRT BT IR N | 2)
Define Globalisation.
6. 3ifer sfean ¢ Y HIUw & A1 il g 2 (2)

Why was All India Trade Union Congress established ?
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4" Sa9F 939 (Long Answer Type Questions)

ged AT 7 3R 8 AIe ST T | 398 A ¥l Tdh BT IR < | IS U
& oY 4 sie FEiRa 2| (1X4=4)

Question nos. 7 and 8 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. (1x4=4)
7. SufazraTe | MY T FWHSA © ¢ {9 USR SfefieRer 7 Sufvderdre
BT o fear ?

What do you understand by colonialism? How did industrilisation

give birth to colonialism ?

8. BT HIfd & BRON Bl A== S |

Discuss the causes of Russian revolution.

Xrorifa fasi<1 / POLITICAL SCIENCE

o 3N 939 / Short Answer Type Questions

Ue AT 9 ¥ 12 O ofg SN & | 399 9 b=l &1 Ul & SR & | ISP b
forg 2 o ufRa B (2x2=4)
Question nos. 9 to 12 are Short Answer Type. Answer any two questions.

Each question carries 2 marks. (2x2=4)

) [AeR # B3 cled & YT BRI &1 o ? 2)

What were the main reasons for the students’ movement in
Bihar?
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10.  AvcIRdar iR gH fARUgar § @ i g ? 2)
What is the difference between communalism and secularism ?

1. UM 99Rd & 1 SR gaTsy | ¥
State two functions of Gram Panchayat.

12. <7 @ ARIERN 9 19 9T A © 7 2)
What do you understand by power sharing.

" ST 939 (Long Answer Type Questions)

9T AT 13 UG 14 1Y SR 8| 399 9 fhdl U & SR 2 | UAd & folv 4
3 feifRa € | (1x4=4)

Question nos. 13 and 14 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. (1x4=4)

13, TGS @I I DA Albas ®f YHIId dal & 2 (4)
How does the politics of coalition affect democracy ?
14, 9Rd H SA0EG Y99S & B8l IR BRI HI qo B | (4)

Describe any four reasons for the rise of casteism in India.

31ef9= / Economics

o 3N 939 / Short Answer Type Questions
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U3 AT 15 W 18 b ofg STRIY § | 399 9 Bl 2 ygHl & SR < | YD U
& forg 2 s FelfRa € (2x2=4)
Question nos. 15 to 18 are Short Answer Type. Answer any 2 questions.
Each question carries 2 marks. (2X2=4)
15, arefegaven &1 aRWIRT o | 2)
Define Economy.
16.  Afgd gomel w1 ¥ ? (2)
What is Monetary system ?
17.  SARIGR Bl RATRT 3 | 2)
Define Liberalisation.
18. AR BT aRHIRT &Y | (2)
Define outsourcing.
dd T8 ¥ (Long Answer Type Questions)
U3 AT 19 iR 20 €E SR B 398 9 fl U @1 SR | D
yed & v 4 3 FeiRa g (1x4=4)

Question nos. 19 and 20 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. (1x4 = 4)
19.  WEHINAl & Hewayul owd &1 8° g b [dbrd H gDl qADI Bl
quie @ | @)

What are the important elements of Co-operation ? Describe its

role in the development of a state.
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20. o7 A @1 & ? o fawrd e o gig # afar aard |
4)

What is Economic development? Distinguish between Economic

development and Economic growth.

Mo / Geography

oY S 939 / Short Answer Type Questions

U AT 21 9§ 26 T oY SR © | [F=l 3 Yol & IR & | ISP U & folg
2 3 fAeiRa € | (3x2=6)
Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions.

Each question carries 2 marks. (3x2=6)

21.  f¥ER & vg@ 781 91l uRAsERl & M ARy | 2

Write the names of the main river valley projects of Bihar.
22, HRAY N BT 1 IUTGHAT & &I BRYT IS | 2

State two causes of low productivity of Indian agriculture.

23. IJIEE BT GRYIT BT | 2

Define resource.

24, gad fderg A 3T T FHsId 8 ? 2

What do you mean by sustainable development ?

25.  9rg URaed @l fdbel &l faRIvdms & Seoid o | 2
Mention any two characteristics of air transportation.

26. WA ¥fad @ oIy fohd @fell &1 smawaedar gl g ? 2
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Which minerals are required for nuclear power ?

<" 99T 939 (Long Answer Type Questions)

U9 AT 27 TG 28 <Y SN © | fhdl U YT &l SR < | ISP U9 &

oy 4 o fFeiRa #) (1x4=4)

Question Nos. 27 and 28 are Long Answer Type. Answer any one question.

Each question carries 4 marks. (1x4=4)

27.  HaT HReTv R Hfara fewofl forfy |

Write a short note on soil conservation.

28. RO ffcgaeery § gRdes Ud WaR &1 Hg<dT bl guid BHIfou |

Describe the importance of transport and communication in Indian

economy.

3Mu<r 99¢4 / Disaster Management

oY S 939 / Short Answer Type Questions

U AT 29 W 32 O% oY SN 7 | fHRl 2 Ul & IR T | U U B forg
2 sie PfRa &1 (2x2=4)

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks. (2x2=4)

29. AR BT URHINT PN | 2
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Define Tsunami.
30. g & RER3d a9 & fh] a1 SURl &1 Sooid BT | 2

Mention any two measures to control flood.

31, UTdidd IMUST § §aR ARGAl B IUAIRCT &I [da=mr S| 2

Discuss the utility of the means of communication during natural

disaster.
32. T ¥ Nfed afdd & foTv a1 yoM SuaR =nfgu ? 2

What should be the first aid for a person suffering from burn

injury?
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